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Attempt all questions. Marks are indicated against each question.
Attempt all parts of the question togehter. Simple calculator is allowed.
Log and annuity tables may be provided on demand.
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PART A (91T &)

1. (a) “Financial Management is more than just procurement of funds.” Explain the
résponsibilities of a finance manager. '

“Faefray wely, W ffaal S T w0 Q@ s s @ R a9 weuw R AR
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(b) ABC Limited is considering the purchase of a new machine to replace an existing
machine that has a book value of Rs. 34,000/- and can be sold for Rs. 12,000/-. The
salvage value of the old machine after four years will be zero, and it is to be
depreciated on straight line basis. The proposed machine will perform the same
functions as the old machine is performing, however, improvement in technology will
cnable the firm to make cash benefits (before depreciation and taxes) of Rs. 56,000/-
per year in materials, labour and overheads. The new machine has a lifc of four years,
costs Rs. 120000/- and can be sold for Rs. 16,000/ at the end of fourth year. Assuming
straight line depreciation and a 40% tax rate, compute cash flows associated with this
replacement.
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(a)

(®

ABC fafies witver o & sfrefia = 78 a9 ey W fER ) @t 2 A
TR T W1 AR 34,000 To B 3T 12,000 Fo ¥ SN o wwA ¥ | WA Wl W
Fremer g 4 o s1e ¥ @ ek 3w W deh Y@ ER W IR el S |
st Wi QU weli e @ frowea wUit qafy PR ¥ gur ¥ ol @
(Teoer 3R R Fe ¥ UE) 56,000 Fo Sfaad wrh, 9w ik Suer ¥ Az @
B | TS WA F A 4 7 § R AT 1,20,000 To 21 5 Y a9 I miE w
16000 To # o<1 S WHaT 2 | Weft ¥ [euw™ faf @ AFER 40% W R W I
ST | Gag AFg a8 A1 AfTeHe FHT | - _ 10
' Or (3=
“Wealth Maximization is only a decision criterion and not a goal.” Explain.
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Machine A costs Rs. 1,00,000, payable immediately. Machine B costs Rs.‘1,20,000/-
payable 50% immediately and balance after one year’s time. The cash receipts
expected are given below:

Year (End) Machine A Machine B
1 Rs. 20,000 —
2 60,000 Rs. 60,000
3 40,000 60,000
4 30,000 80,000
5 20,000 —

With 7% cost of capital, which machine should be selected?

T A F @ 1,00,000 To } S U qR A 21 AT B W @ 120000

o @ S M 50% ek SR AW ww o A% 2 ¥ 1 wenuw A wiwat A3 @
W@ | '

L | "yt A WA B
1 20,000 %o —
) " 60,000 60,000 %o
3 40,000 60,000 .
4 30,000 80,000
5 20,000 —
{sft = A 7% & @ fFE AwRa F g Afww ? | 10
ParT B (T &)
2. The follewing figures have been taken from the current Balance Sheet of Delaware
Company Limited:
Capital (Equity Shares of Rs. 10 each) Rs. 8,00,000
Share Premium Rs. 2,00,000

Reserves _ Rs. 6,00,000
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Shareholders thd; : Rs. 16,00,000

12% Irredeemable Debentures ~ Rs. 4,00,000

An annual dividend of Rs. 2/- per share has been paid. In the past, ordinary dividends have
grown at a rate of 10% p.a. and this rate of growth is expected to continue. Annual interest

has recently been paid on the debentures. The ordinary shares are currently quoted at Rs.
27.50/- and the debentures at 80%. (Ignore taxation.)

You are required to estimate the weighted average cost of capital (based on market
values) for Delaware and Company.

mmwgﬁmwwﬁmmmmmé—

gt (10 %o AT IfFEt AW) 8,00,000 %o
I sifaan 2,00,000 %
fod : 6,00,000 %o
Yt it fafeat 16,00,000 %o
12% wfaea feamd S 4,00,000 %o

2 Fo Wi MR A wmary fean A 2 1 faa & WERW AW 10% Soad #® R F @

? ok gfg & T @ IR W W FEE 2 e WA @ F aifis s foa

¥ | WERY TR T WG 27.50 Fo 3R fesm=R 80 WAvH W (FUH R B ANY A

TR T AT AW W R F fAw st S wita it A W SR T @

(AR eI W A1) | ' 15
Or (3tg=m)

(a) The required rate of return of investors is 15%. ABC Ltd. declared and paid annual -

dividend of Rs. 4/- per share which is expected to grow @ 20% in future. Compute
the price at which the share should sell.

A W aifed Tfawd R 15% 21 ABC fafiee ¥ 4 Fo fa I anfis aaiw
ﬁmm%ﬁtéhémﬂﬂﬁwﬁzo%aﬁaﬁmaﬁumﬁlw
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(b) 2,00,000 debentures of Rs. 250/- each are being issued at a 5% discount. Coupon rate
is 15%. Flotation costs are likely to be 5% of the face value. Redemption will take
place after 8 years at a premium of 5%. Tax rate is 40%. Determine the cost of debt

(K-

250 Fo AR 2,00,000 FEAR 5% T W W T F W@ €1 W R 15% 8 | @A
A SifhT g @ 5% o1 @ gue 31 fEvm 8 A A 5% sifiem W fwa
SO | H R 40% € | B (K) F @nra w1 FraRor S | 7.8
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3.

(a)

(b)

(b)

Binny Limited has estimated that for a new product its breakeven point is 2,000 units

if the item is sold for Rs. 14/- each. The costing department has currently identified
the variable cost of the product Rs. 9/- per unit.

Calculate the degree of operating leverage for sales volume of 2,500 units and 3,000
units.

foft fafrs 3 e @ @ % T Searg & Fere SwaT aTe-otens fag 2000 4R
? A% A 14 Fo TAF H QA N W@ T FraRor O Ay frm Y ae @ &
STE F uREdl @ 9 Fo W gfre o 1

2,500 R SR 3,000 FET @ fom F foT TEEE RS ® A & afeher

T | | 7

What do you mean by leverage? Why is increasing leverage indicative of increasing
risk? '

gﬁa‘i‘aﬁmwm%ﬁ??wm%ﬁa&maﬁa&aa&hﬁa‘rﬁaﬂmw

v Or (a1gem)
What is combined leverage? Examine its significance in financial planning of a firm,
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The following information is given for X & Co.:

EBIT : Rs. 11,20,000 .
Profit before tax | 3,20,000
Fixed Costs 7,00,000

Calculate % change in EPS if the sales are expected to increase by 5%.

EBIT 11,20,000 %
FE @ AW 3,20,000 %o
R A , 7,00,000 %o

Epsﬁrrﬁrmtrﬁaﬁqamﬁaﬁqaﬂﬁqwﬁ:ﬁaﬁa%% G H YA & | 8

ParRT C (%TFT M

“Debt is a cheap source of finance.” Comment.
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NOI Ltd. belongs to a risk class of 10% and expects EBIT of Rs. 4,00,000/-. It
employs 8%’ debt in the capital structure. Find out the value of the firm and the cost

of equity capital K,, if it employs debt to the extent of 20%, 35% or 50% of the total
financial requirement of Rs. 20,00,000/-

NOI fafiee 10% Sifgn areht s = wa= 2 -3 4,00,000 Fo?ﬂEBIT.?ﬂﬁﬁT'
? 1 98 FU 8% ISt S F e 21w g ek et gst K, @ @
@ HITT AR 77 20,00,000 Fo F Fot Facltar qavaHAT 1 20%, 35% A 0%

T H B0 AMAT R | 10
Or (gam) |

Explain the factors that influence the dividend policy of a company.

3T HIH H TN FTT R F arrw AT B ghE ww ¥ 7

Assuming that the expected rate of return by investor is 11%, the internal rate of
return is 12%, and earning per share is Rs. 15/-. Calculate price per share by:

(i) Walter Model, and
(i) Gordon Model,
if dividend payout ratio is 10% and 30%.

%m@mmmﬁmall%,é;mmalz%
IR 9T IR MW 15 Fo 8 Frfafen g sfa AR Fma =1 wReaT AT af
THIT 3T F A R 10% 3R 30%

(1) 9l "Hizd
(i) wMET AfeT ) , 8

Discuss the factors to be considered while determining the working capital
requirement of a firm.

waﬁmﬁaiﬁﬁmmaﬂﬁmmmﬁmﬁa;@aﬁﬁm

FHifST | ' 8

Define Receivable Management. Briefly explain its objectives.

T e @ AR d ) WA § 3o el W s it | 7
Or (3tgan)

Write short notes on:
(1) Operating Cycle and

(i) ~ Economic Order Quantity.

P.T.O.
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ﬁmﬁrﬁaa RISSIE FzmﬁlmT fafaw:
(i) SETe W S
(i) onfds amew 9w |

(b) Explain the effects of Excessive Working Capital of a firm.
W Ft i FEdwe Yok AWE H A HSC |
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